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1 C) Nepal
2 Longitude: Meaning (%)
Easternmost longitude: 97°25'E ('4)
3. Money in hand is an example for 1
A. Fixed capital
B. Working capital
C. Reserved capital
D. Human capital
4. 1
Plenty of water
Chemical fertilizers
Pesticides
[Any two]
5. Which of the following statement is NOT true about Legal Framework Order 1
A. the President can dismiss the national and provincial assemblies
B. It amended the Constitution of Pakistan
C. The work of the civilian cabinet is supervised by a National Security Council
D. It facilitates democratic election
6. 1
A Before contesting elections, a candidate needs the approval of the Chinese Communist Party.
Only those who are members of the Chinese Communist Party or eight smaller parties allied to it
were allowed to contest elections
[Any one ]
[any other relevant point]
7. 2
Tithe is A tax levied by the church, comprising one-tenth of the agricultural produce
Taille is a Tax to be paid directly to the state
8. 3
e When the demand of right to vote for each member was denied , the third estate
boycotted the Estate general and assembled in assembled in the hall of an indoor
tennis court in the grounds of Versailles on 20 June 1789




e They declared themselves a National Assembly and were led by Mirabeau and
Abbé Sieyes

e They swore not to disperse till they had drafted a constitution for France that would
limit the powers of the monarch

9.

e Until 2000 every election was won by a party called PRI (Institutional
Revolutionary Party). Opposition parties did contest elections, but never managed to
win. The PRI was known to use many dirty tricks to win elections.

e All those who were employed in government offices had to attend its party
meetings. Teachers of government schools used to force parents to vote for the PRI.
Media largely ignored the activities of opposition political parties except to criticise
them.

e Sometimes the polling booths were shifted from one place to another in the last
minute, which made it difficult for people to cast their votes. The PRI spent a large
sum of money in the campaign for its candidates

10. 1.
Modern Farming

e Follows modern methods of farming

e One crop on a single piece of land during the period

e Using hyv seeds chemical fertilizers ,pesticides and modern technology

e High productivity

e Not environment friendly

Multiple Cropping

e Follows traditional methods of farming

e More than one crops on a single piece of land during the period

e Using traditional seed ,that requires less irrigation ,primitive methods .

e Low productivity

e Environment friendly
[any one]

2. multiple cropping
3. Yield is measured as crop produced on a given piece of land during a single season
11. “While it is still dark in Gujarat, the sun has already risen in Arunachal Pradesh.”

Justify the Statement.
Ans.

a) This is because of the vastness of the country.

b) The difference in degrees of Arunachal Pradesh (97°25'E) and Gujarat is 30°
(approximate) 68°7'E.

C) As the earth rotates from West to East and India being situated in the east,
sun rises two hours early in Arunachal Pradesh.

d) We have a standard time for the whole country which is taken from the
Standard Meridian (82°30'E) passing through Mirzapur. Hence, the watches
show the same time in the country

Any three points=3 marks
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